Einstein is a bully of all time equation Γ = t ℮ ỉ ω t
By Professor Joe Nahhas 1973 

joenahhas1958@yahoo.com


The elimination of Einstein’s stupidity from classrooms and scientific calculations is a matter of time and not a matter of science and the time is yesterday 1905. Abstract: bullying has an equation Γ = t ℮ ỉ ω t that gives better results than anything Einstein said and fit relativity theory experimental data with unprecedented accuracy 
1- From this equation I am going to derive special relativity theory

2- From this equation I am going to derive Perihelion/Apsidal motion

3- From this equation I am going to derive light bending

4- From this equation I am going to  derive Shapiro time delays
5- 5- E = mc²
6- GPS
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Proof
Arabs Real time Physics: We can only measure past events. We can not measure something that did not happen. We can only measure things that had happened. What we measure is not what happened. We measure in present time an event that happened in past time.      

Present time = present time

Present time = past time + [present time - past time]

Present time = past time + real time delays

Real time physics = event time physics + real time relativistic delays 

What one sees is relativistic = what happened in an absolute event + relativistic effects

What happened in an event is absolute = real time physics - real time relativistic effects.

Observer time = observed traveler time + time delays 

Real time = absolute time + time delays 

Real time = Event time + time delays 

Real time Physics = event time Physics + time delays Physics

Quantum = classical + relativistic

Naming Γ as real time and t as event time 
Γ = t + (Γ - t) = t [1 + (Γ – t)/t] = t (Γ/t)                                                                                         

Γ = t + Δ Γ; Δ Γ = Γ - t 

If an event happens on Planet Mercury and the event is seen from the Sun at event time t, then this same event would be seen from Earth in real time as time Γ = t + Δ Γ
Γ = t + (Γ - t)                                                                                             

Real time = Event time + time delays

Γ = t + Δ Γ (x) + ỉ Γ (y) = t + Δ Γ
Δ Γ = Δ Γ (x) + ỉ Γ (y)                                                                                             

Δ Γ (x) is along the line of sight time delays

Δ Γ (y) is perpendicular to the line of sight time delays

Γ = t (Γ/t)

Γ = t e ỉ ω t; Γ/t = e ỉ ω t; ω T = arc tan (v/c)

Γ = t e ί ω t; ω T = arc tan (v/c)   
Multiplying by c, then r = c Γ = c t e ί ω t = r0 e ί ω t; ω T = arc tan (v/c)   
Or r = r0 e ί ω t; ω T= arc tan (v/c)  

Real time physics = event time physics + time delay physics
An object of length r could be seen longer or shorter if it extended or shortened e λ t or twisted e í ω t making it in general r e [λ + í ω] t. If the length of an object is not extended or shortened then λ = 0 and it could be seen as a twisted visual effect. 

Then r -------------------------- Visual r = S = r e í ω t
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1- The illusion of length contraction:

 Length contraction is just a visual effect of projected light aberration and it is an "apparent" visual effect and not real

An object located at r ----- light sensing -----measured as S = r e í ω t with ω t = arc tan (v/c); tan (v/c) = light aberrations angle = ω t

S = r e í ω t caused by light aberrations visual effects as follows:

e í ω t = [cosine ω t + ỉ sine ω t]; From S = r e í ω t It changes to: S = r {√ [1- sine² arc tan (v/c)] - ỉ sine arc tan (v/c)}

                          = r {√ [1- (v/c) ²] - ỉ (v/c)}; v/c <<< 1

                          = S x + ỉ S y 

Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

With v/c << 1 then; Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

In absolute value S = r

Along the line of measurement:  S x = √ [1- sine² arc tan (v/c)] ≈ r √ [1-(v/c) ²]; v/c << 1  

This the equation for length contraction of Lorentz's used in Einstein's theories

But it is the light aberrations visual effects and it is "apparent and not real 

2 - Constant velocity of light leading to Time Dilations

Projected light aberrations 

S x = r cosine ω t
Hypotenuse = S x = [c t x] = c t x √ [1- sine² arc tan (v/c)] 

                S x ≈ c t √ [1-(v/c) ²]; from constant velocity of light 
and c is constant in all reference frames
Where t = local self time; t x = time by observer 


t x = t √ [1-(v/c) ²]; and
t = {1/√ [1-(v/c) ²]} t x absolute math

These are time dilatation equations given by Einstein’s special relativity theory. 

t x' = t' √ [1-(v'/c) ²]; and
t' = {1/√ [1-(v'/c) ²]} t x' absolute math

Two observers observing the same thing the time dilations are
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Then, t x = t √ [1-(v/c) ²]; t = {1/√ [1-(v/c) ²]} t x absolute math; Lab purposes

And, t x' = t √ [1-(v'/c) ²]; t' = {1/√ [1-(v'/c) ²]} t x' absolute math; Lab purposes

However; two observers looking at each other 

S (A) = r exp [ỉ ω t] 

S (B) = r exp [- ỉ ω t]

S x (A) = S x = c t x ≈ c t x' √ [1-(v/c) ²]
S x (B) = S x = c t x' ≈ c t x √ [1-(v/c) ²]

And t x ≈ t x' √ [1-(v/c) ²]
And t x' ≈ t x √ [1-(v/c) ²]
That is why there no twin Paradox except on science fictions books because it is all about aberrations and nothing real.

3 – Momentum

S x = Visual location along the line of sight = r [√ [1-(v/c) ²]
P x = v [√ [1-(v/c) ²]; v =constant; P x = d [S x]/d t

And m P x = m v [√ [1-(v/c) ²] = m (0) v

4 – Mass Then m = m (0) / [√ [1-(v/c) ²]

Also; m = m (0) / [1-1/2(v/c) ²]

5- Energy

mc² = m (0) c² / [1-1/2(v/c) ²]

E = m (0) c²; v = 0

Also m ≈ m (0) [1+ 1/2(v/c) ²]

Hence m c² ≈ m (0) c² + m v ²/2
Abstract: Newton proposed F = - GmM/r² as gravitational law

In 1801 Johann Georg Van Soldner was the first person to calculate the gravitational bending of light using Newtonian Mechanics and he got:

Johann Georg Van Soldner ς (Johann) = 2 {cosine -1 [v²/ (-c² + v²)} - π   

With v² = GM /R where G = gravitational constant = 6.673 x 10-11; C = 3 x108m/sec  
And M = Sun mass = 2 x 1030 kg; R = sun radius = 0.695 x 109 m; v = 437.89 Einstein said if make – believe time travel and new forces added:

Then: ς (Einstein) = 4 (v/c) ²; ς (Johann) = 0.8789 arc sec; ς (Einstein) = 2(0.8789)
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Johann Georg Van Soldner derivation was incomplete and when completed and approximated it produces Einstein’s formula without Einstein’s space – time fiction and as light aberration and not light bending.
Proof:
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 Wrong mathematician and wrong Astronomer Exposed
Johann Georg Van Soldner 1801 wrong derivation of angle of light aberration around the Sun
With d² r/d t² - r θ'² = -GM/r²   Newton's Gravitational equation (1)

And d (r²θ')/d t = 0                              Kepler's force law        (2)

Assuming mass m = constant 
Proof:

With (2): d (r²θ')/d t = 0 

Then r²θ' = constant = h
Differentiate with respect to time

Then 2rr'θ' + r²θ" = 0

Divide by r²θ' 

Then 2(r'/r) + θ"/θ' = 0
And 2(r'/r) = - (θ"/θ') = 2[λ (r) + ì ω (r)]

And 2(r'/r) = 2[λ (r) + ì ω (r)]
And (θ"/θ') = - 2[λ (r) + ì ω (r)]

Solving for r = r (θ, t) = r (θ, 0) r (0, t) = r (θ, 0) ℮ [λ (r) + ỉ ω (r)] t

With r (0, t) = ℮ [λ (r) + ỉ ω (r)] t

Then θ'(θ, t) = [h/ r² (θ, 0)] ℮ -2[λ (r) + ỉ ω (r)] t 
And, θ'(θ, t) = θ' (θ, 0) θ' (0, t)

And θ' (0, t) = ℮ -2[λ (r) + ỉ ω (r)] t

Also θ'(θ, 0) = [h/ r² (θ, 0)] 
And θ'(0, 0) = [h/ r² (0, 0)]
With (1): d² r/d t² - r θ'² = - GM/r² 

Let r =1/u

Then d r/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ
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And d² r/d t² = - hθ'd²u/dθ² = - h u² [d²u/dθ²]

And - hu² [d²u/dθ²] - (1/u) (hu²)² = - G Mu²

[d²u/ dθ²] + u = G M/ h²

And u = G M/ h² + A cosine θ 
And du/ d θ = 0 = - A sine θ; θ = 0

Then u (0) = 1/ r (0) = GM/h² + A; h = RC

C = light velocity of 300,000km/sec; And A = 1/R – GM/ (RC) ² 
And u = G M/ h² + A cosine θ = GM/ (RC) ² + [1/R – GM/ (RC) ²] cosine θ  

And r = 1/u = 1/ {GM/ (RC) ² + [1/R – GM/ (RC) ²] cosine θ}  
If r ---( ∞; GM/ (RC) ² + [1/R – GM/ (RC) ²] cosine θ = 0              
Divide by GM/ (RC) ²  

Then 1 + [R²C²/ GM R – 1] cosine θ = 0

And cosine θ = -1/ [C²/ (GM/ R) – 1] 

Or cosine θ = 1/ [1 – (C²/V²)]; GM/R = V² 

Or cosine θ = v²/ (v² - c²)
And θ = cosine -1 [v²/ (v² - c²)]
And ς (Johann) = 2 {cosine -1 [v²/ (-c² + v²)} - π ≈ 2 [π/2 + (v/c) ²] – π = 2 (v/c) ²; v/c <<1   


[image: image2]
Einstein invented many things to come up with double the amounts:

Or, ς (Einstein) = 4 (v/c) ²
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Here is Johann Georg Van Soldner 1801 Historical mistake

We have u (θ) = G M/ h² + A cosine θ
And r (θ, t) = r (θ, 0) r (0, t) = r (θ, 0) ℮ [λ (r) + ỉ ω (r)] t
And r (θ, 0) = 1/ u (θ, 0) = 1/ [G M/ h² + A cosine θ]

Or, r (θ, 0) = (h²/GM)/ [1 + (h²/GM) A cosine θ]

Or, r (θ, 0) = (h²/GM)/ [1 + ε cosine θ]

Real time orbit: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t
This equation is real time Universal mechanics solution 

This: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t --------------------------------- I

It is the math formula that matches a physical experiment

If time is frozen that is t = 0

Then r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] we get the classical or event time solution ----------- II

Relativistic is the difference between I and II 

And it is the visual illusion between motion II and Visual motion I 

The difference between an event and its measurement in real time
With θ’ (θ, t) = [h/ r² (θ, 0)] ℮ -2[λ (r) + ỉ ω (r)] t  
With (θ”/ θ’) = - 2[λ (r) + ì ω (r)]
Then θ” (θ, t) = - 2[λ (r) + ì ω (r)] [h/ r² (θ, 0)] ℮ -2[λ (r) + ỉ ω (r)] t  
With λ (r) = 0

Then θ” (θ, t) = - 2 ì ω (r) [h/ r² (θ, 0)] ℮ -2 ỉ ω (r) t  
Or, θ” (θ, t) = - 2 ì ω (r) [h/ r² (θ, 0)] [cosine 2 ω (r) t + ί sine 2 ω (r) t] 
The real part or along the line of sight

Is Real θ” (θ, t) = 2 ω (r) [h/ r² (θ, 0)] sine 2 ω (r) t] (t/t) 
Or, Real θ” (θ, t) = 2 t ω (r) [h/ t r² (θ, 0)] sine 2 (r) ω t]  
Or, Real θ” (θ, t) / [h/ t r² (θ, 0)] = 2 t ω (r) sine 2 ω (r) t  
At t = T; light aberration angle in real time is confused for light bending. With ω T = arc tan (v/c)   

Then ψ = visual illusion angle = θ” (θ, T) / [h/ T r² (θ, 0)]
Or, ψ =2 T ω (r) sine 2 ω (r) T

Johann Georg Van Soldner 1801 historical mistake
Is: ψ = [2 arc tan (v/c)] sine [2 arc tan (v/c)]

With (v/c) << 1; 2 arc tan (v/c) ≈ 2 (v/c)   

And sine 2 arc tan (v/c) ≈ sine 2 (v/c) ≈ 2 (v/c)
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And ψ = [2 arc tan (v/c)] sine [2 arc tan (v/c)] 

          ≈ [2 (v/c)] [2 (v/c)]

Or ψ ≈ 4 (v/c) ² radians 
Or, ψ ≈ 4 (v/c) ² x (180/π) degrees

Or, ψ ≈ 4 (v/c) ² x (180/π) x 3600 seconds

With v² = GM/R 

Then ψ ≈ 4 GM/R c² x (180/π) x 3600 seconds
Einstein with the help of others rigged eternity to come up with 4 (v/c) ² and not 2 (v/c) ² to justify experimental illusions or 2[2(v/c) ²]

Ψ = 7200 [arc tan (437.89 / 300,000)] sine 2 [arc tan (437.89/300,000)]
   = 1.757855865 arc second

Γ = t e ỉ ω t
Along the line of sight

Γ = t cosine arc tan (v/c) = t {1- 2 sine² {[arc tan (v/c)]/2}}

Γ - t = - 2 t sine² {[arc tan (v/c)]/2}

Or T = t/2 or the time measurements changes are twice period changes  

Or (Γ – t)/2 = - t sine² {[arc tan (v/c)]/2} is the time delays for periods

With t = 1 century and t in arc seconds is 15 times time seconds then

(Γ – t)/2 = - 15 T sine² {[arc tan (v/c)]/2}; T = One century
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With v = 47.9 (mercury) – 29.8 (Earth) =18.1 km/sec 

(Γ – t)/2 = - 15 (36526) sine² {[arc tan (18.1/300,000)]/2] = 43

Or it can be accomplished from a different point of view

The r’ = V r
And r θ’ = V θ 
And V r ²= 2 γ r r
And V θ ² = r γ θ 
The confusion is and was γ r = γ θ
Or V r ²= 2 V θ ² 

And taking V r = (√ 2) V θ  

And taking V r = V r (Mercury) - V r (Earth) = V r m - V r e
And V θ = V r / (√ 2
Then ∆Γ = Γ - t = - 2 t sine² {[arc tan (V r m - V r e)/ (√ 2c)]/ 2} = 43
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Venus velocity can be used without this mess

Γ - t = - 2 t sine² {[arc tan (v/c)]/2}

And v = v (Mercury) – v (venus)

Γ - t = - 2 t sine² {[arc tan (v/c)]/2} = 43

Also, relativity theory can be derived from 

B- Arabs real time Global Positioning System: GPS

Abstract: The Global Positioning System or GPS 45 micro seconds per day time delays have nothing to do with Einstein's relativity theory time travels confusions of physics and they are a consequence of Satellite orbital speed and Earth rotational speed given by this formula below. Even if Einstein's formulas were correct for all practical purposes they are insignificant to the performance to the GPS system. Earth - Satellite distance is a variable that Engineers account for and the tiny "relativistic" effect has no significance whatsoever because distance adjustment is far more than any relativistic adjustment. For the president of the United States President to ask for Innovations like that in an AAAS meeting is a sign of a bankrupt scientific community and for those who knew the facts must have laughed to their teeth at the president.  

NASA's and AAAS laughing at the president requires a reply with laugh at AAAS and NASA and all other including the person who wrote the speech for the president

GPS time delays of 45 micro seconds per day have nothing to do with relativity theory or Einstein or AAAS or NASA or silly time travel physics or any theory. This time delay is due to Earth rotation and satellite orbital speed that Scientists turn their heads away from because without Einstein's silly magic sock of time travel physics, Physicists will have less tricks that allows them to say anything publish anything based on nothing for jobs money prestige Nobel Prizes and silly physics.   

W" (ob) = (-720x3600x15) [(v° +/- v*)/c] ² arc sec /day 

T = period; ε = eccentricity; v° = spin velocity of earth; v*= orbital velocity of satellite

And v* = 14000km/hr = 3.88888888889 km/s; ε = 0; T = 0.5 days and v° = 0.465km/s

Page 9
U = W" x (24/360) = 45.016microsecond per day Nahhas'

Relativity theory silly professor of time travel accounted for 38 Micro seconds and blamed the other 7 Micro seconds on weather
1 – Arabs Global Positioning Systems in arc second per century:

W" (calculated) = [-720x36526x3600/T] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
2 – Arabs Global Positioning Systems in arc degree /century

W" (calculated) = [-720x36528/T] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
3 – Arabs Global Positioning Systems in arc second per year:

W" (calculated) = [-720x365.26x3600/T] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
4- Arabs Global Positioning Systems in arc degree per year:

W" (calculated) = [-720x365.26/T] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
5 - Arabs Global Positioning Systems delays in arc degree per cycle:

W" (calculated) = [-720/T] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
6 Arabs Global Positioning Systems delays in arc second per cycle:

W" (calculated) = [-720x3600/T] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
7- Arabs Global Positioning Systems delays in arc second per day:

W" (calculated) = [-720x3600] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
8- Arabs Global Positioning Systems delays in second per cycle:

W" (calculated) = [24/360] [-720x3600/T] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² arc sec/ century
9 - Arabs Global Positioning Systems delays in second per day:

U (seconds/day) = [-720x 3600/15] {[√ (1 - ε²)]/ (1 - ε) ²} (v/c) ² sec/day

10 - Arabs Global Positioning System Circular Satellite Orbits time delays in seconds/day

U (seconds/day) = [-720x 3600/15] (v/c) ² sec/day

Application of Arabs Global positioning system

GPS Data: T = 0.5 days satellite orbital Period; ε = 0

And v° = 0.465km/sec Earth spin speed; 

And v* = 14,000 km/hr = 35/9 km/second

Then v* +/- v° = 35/9 = 3.88888889km/sec - 0.465km/second
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We subtracted because satellite and motion and spin orientations are opposite 

GPS time delays are given by this formula per day in seconds of an arc 

W" (ob) = (-720x3600/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° +/- v*)/c] ² seconds/day

W" (ob) = (-720x36/0.5) (1) [3.423888889/300,000] ² seconds of arc /1 day

W" (ob) = 0.000675246 arc seconds per day to get this answer in seconds divide by 24hours/360degress = 15

U [seconds] = 0.000675246 x [24/360] seconds/day

U = 0.000045016 seconds/day = 45 micro seconds /day

C - Interplanetary telecommunications around the sun

[image: image3.png]



Harvard Irwin Shapiro historical mistake
The stupidity of Harvard Physics department 
Universal Constant Γ0 =16πGM/C³= 247.597μs  
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Abstract: Interplanetary time delays around the moving sun derived from three dimensional time-dependent Newton - Kepler's equations solution gives a solar round trip time delay rate of:  

ΔΓ= 16πGM/c³ [1 + (v°/v)] ² = ΔΓ0 [1 + (v°/v)] ² 

ΔΓ0 = 16πGM/c³= 247.597μs

G = Gravitational constant; M=Sun mass; a=mean distance from Sun. And eccentricity; c = light speed; a = mean distance 

And v = Planet speed; v°= Sum/Difference in spin between Earth and planets. When applied to actual data it gives extremely accurate results better than Shapiro's Space-time-delay analysis and without space-time fictional forces or space-time fiction.     

W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x [(v° + v*)/c] ² degrees/100 years

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) ≈ 

2πa (1-ε²/4); R =a (1-ε²/4)

Where v (m) = √ [GM²/ (m + M) a (1-ε²/4)] 

And v (M) = √ [Gm² / (m + M) a (1-ε²/4)] 

Then W (ob) = -4π [√ (1-ε²)]/T (1-ε) ² sine² [ω (m) t + ω(r) t] 

Δ θ = T W (ob) = - 4π {[√ (1-ε) ²]/ (1-ε) ²} (v° + v*/c) ²} radians; and with ε = 0

Δ θ = - 4π (v° + v*/c) ² Sun-Photon; and with v° = 0

Δ θ = -4π (v*/c) ²

Sun-Photon:  0 = ε [Sun - Photon] ≠ ε [Earth - Mars] = 0.2075

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²---) 
≈ 2 π a (1-ε²/4); R =a (1-ε²/4)

 v=√ [Gm M/ (m + M) a (1-ε²/4)] ≈ √ [GM/a (1-ε²/4)]; m<<M; Solar system    

ΔΓ = 2 arc length/c = 2[Δ θ] d/c = 2[- 4π (v/c) ²] 2R/c; ΔΓ = -16π/c (v/c) ²;

ΔΓ = 8πd/c³ [GM/a (1-ε²/4)] =16πGM/c³ (1-ε²/4) = Γ0 (1 - ε²/4)

ε = [a (planet 1) - a (planet 2)]/ [a (planet 1) + a (planet 2)] =0.2075 Mars-Earth 

Γ0 = 16 πGM/c³= 247.5974607μs=universal constant

ΔΓ = 250μs Mars-Earth.
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x 1000         x 1000         x 1000       


These data compared to Shapiro's time delay from NASA 1977 Vikings 6, 7 Earth - Mars Telecommunications mission are more accurate because the actual value is 250μs and the value published by Doctor Irwin Shapiro of Harvard is 247.597μs 

Although this formula works the correct formula is    

Δ θ = -4π [(v° + v*)/c] ² Sun-Photon; and with v° ≠ 0

 v = √ [GM/a] = 24.1 km/sec; vº = 0.46511 – 0.241 = 0.224 km/sec

ΔΓ = 2 arc length/c = 2[Δ θ] d/c 
= 16πGM/c³ [1 + (vº/v)] ² = 247.597 x [1 + 0.224/24.1)]²

Δ Γ = 250 µs For Mars; 0.4651 = Earth rotation; 0.241 = mars rotation; v = mars speed 

20th Century Physics Greatest Mistake is E = mc²

Mariah Carey Song: I want my refund on Einstein 
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The difference between old physics and new physics is double

That is one Einstein equal two Newton. 

Newton energy definition is En = mc²/2 

Einstein doubled that amount or E e = 2 En = 2[mc²/2] = mc²

It is not just Einstein and Newton are wrong but physics is 500 years wrong Page 1

Abstract: The elimination of 500 years of Physics including relativity theory is a matter of time and not a matter of science and the time is 1900. 

E = mc² death certificate is now available

Real time Physics: We can only measure past events. We can not measure something that did not happen. We can only measure things that had happened. What we measure is not what happened. We measure in present time an event that happened in past time.      

Present time = present time

Present time = past time + [present time - past time]

Present time = past time + real time delays

Real time physics = event time physics + real time relativistic delays 

What one sees is relativistic = what happened in an absolute event + relativistic effects

What happened in an event is absolute = real time physics - real time relativistic effects.

Observer time = observed traveler time + time delays 

Real time = absolute time + time delays 

Real time = Event time + time delays 

Real time Physics = event time Physics + time delays Physics

Quantum = classical + relativistic

 Naming Γ as real time and t as event time 

Γ = t + (Γ - t) = t [1 + (Γ – t)/t] = t (Γ/t)                                                                                         

Γ = t + Δ Γ; Δ Γ = Γ - t 

If an event happens on Planet Mercury and the event is seen from the Sun at event time t, then this same event would be seen from Earth in real time as time Γ = t + Δ Γ

Γ = t + (Γ - t)                                                                                             

Real time = Event time + time delays

Γ = t + Δ Γ (x) + ỉ Γ (y) = t + Δ Γ
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Δ Γ = Δ Γ (x) + ỉ Γ (y)                                                                                             

Δ Γ (x) is along the line of sight time delays

Δ Γ (y) is perpendicular to the line of sight time delays

Γ = t (Γ/t)

Γ = t e ỉ ω t; Γ/t = e ỉ ω t
Γ = t e ί ω t   

Multiplying by c, then r = c Γ = c t e ί ω t = r0 e ί ω t; ω T = arc tan (v/c)   

Or r = r0 e ί ω t
A – Light aberration ω T= arc tan (v 0/c)  

B – Michelson and Morley ω T = [π/2 + arc tan (v 0/c)]  

Real time location is r = r 0 ℮ ỉ ω t
Real time velocity v = [v 0 + í ω r 0] ℮ ỉ ω t
The definition of energy 
E = m (V. V)/2 

   = (m/2) [v 0 + í ω² r 0]. [v 0 + í ω r 0] ℮ 2 ỉ ω t
   = (m/2) [(v0² - ω² r 0²) + 2 í ω (r 0 v 0)] [cosine 2ω t + í sine 2ω t]

   = (m/2) {[(v0² - ω² r 0²) cosine 2ω t - 2 ω (r 0 v 0) sine 2ω t]

 + í [(v0² - ω r 0²) sine 2ω t + 2 ω (r 0 v 0) cosine 2ω t]}

   = Ex + i E y
Ex = (m/2) [(v0² - ω² r 0²) cosine 2ω t - 2 ω (r 0 v 0) sine 2ω t]

Case I 
Constant velocity of light principle: v 0 = ω r 0 = c

Then

Ex = (m/2) [(c² - c²) cosine 2ω t - 2 c² sine 2ω t]

Ex = (m/2) [- 2 c² sine 2ω t]

Ex = - m c² sine 2ω t

A – Light aberration ω T= arc tan (v 0/c) 
Ex = - m c² sine 2ω t

Ex = - m c² sine 2 [arc tan (v 0/c)] 
Ex = - m c² sine 2 [arc tan (c/c)]

Ex = - m c² 
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B – Michelson and Morley ω T = [π/2 + arc tan (v 0/c)]  

Ex = - m c² sine 2ω t

Ex = - m c² sine 2[π/2 + arc tan (v 0/c)]  

Ex = - m c² sine 2[π/2 + arc tan (c/c)]  

Ex = - m c² sine 2[π/2 + π/4]  

Ex = - m c² sine [3π/2]  

Ex = m c²   

Case II

Rest Energy Principle: v 0 = 0; ω r 0 = c

Then

Ex = (m/2) [(0² - c²) cosine 2ω t - 2 c (0) sine 2ω t]

Ex = (m/2) [- 2 c² cosine 2ω t]

Ex = - m c² cosine 2ω t

A – Light aberration ω T= arc tan (v 0/c) 
Ex = - m c² cosine ω T= arc tan (v 0/c)  
Ex = - m c² cosine 2 [arc tan (0/c)] 
Ex = - m c² cosine 2 (0)

Ex = - m c² 
B – Michelson and Morley ω T = [π/2 + arc tan (v 0/c)]  

Ex = - m c² cosine 2ω t

Ex = - m c² cosine 2[π/2 + arc tan (0/c)]  

Ex = - m c² cosine 2(π/2)  

Ex = - m c² cosine π  

Ex = - m c² (-1)  

Ex = m c²   
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Michelson                                                        Morley  
This 1907 Nobel Prize winner Dude along with this Dude put a Lamp two mirrors and a telescope on a round rotating table.
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This was the set –up. 

[image: image10.png]<®
mirror \\\.‘5
.$‘~’0 o
Glass plate used ,‘.‘..s
to NLMH e effect "i

\one light path

Mirrors Mirrors




Michelson and Morley looked at the virtual image from the two mirrors of light reflections through the telescope. They claim that if they to rotate the table then the image should change. When Michelson and Morley rotated the table in 1887 and the image did not change they claim that you can rotate data without change in results!

Then conclusion of this wacky claim that won a Nobel Prize is that 

The number 1 can be replaced by 1 + i; i is the complex number    
Or; in Cartesian coordinates


[image: image11]
If we take E = (mc²/2) (1)²

And replace (1) with (1 + 1i)

Then E = (mc²/2) (1)² = (mc²/2) (1 + 1i) ²

 E = (mc²/2) (1 + 1i) ² = (mc²/2) (1 – 1 + 2i) ²

E = 2i (mc²/2) = imc²

|E| = |imc²| = mc²

Case III: Classical Energy Principle: v 0 = c; ω r 0 = 0: Then ω
Ex = (m/2) [(c² - 0²) cosine 2 ω t - 2 c (0) sine 2ω t]

Ex = (m/2) (c² cosine 2 ω t)

Ex = (m/2) [c² cosine 2 (0) t]

Ex = m c²/2
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